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1.

(a) work out (4.5 " 1os) + (3.26 x 10a). Give your answer in standard form.
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(b) work out (1.5 " 1o7) + (5 x 1gs;. Give your answer in standard form.
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2.
12O people were asked how many pets they have.
The results are shown in the frequency table below.

Find the mean number of pets that the people have.
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Expand and simplify: (rtr + 4X3 - zfi)
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4.
prove that the sum of two consecutive odd numbers is always a multiple of 4.

ln+l+2n+3 L *n+t+

(21

= +(n+l)
ftgareh€ 'tb i-r Al.rsoy ,\ tru^,^u\rti"Pt!"

o[- +,
5.
ABC is a triangle
Q is the point on BC such that BQ : QC = 3 :2'

Show that AQD is a straight 1ine.
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